acauired : 16:18:09 1/23/2009 [Liberty Aud

iosuite |

Lowther PM&C ! T/E Parameters (Brand Hew) Driuver #1

TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsimy = 32.00, nmass added = 20.0g9ranms = 0.70ounces
frequency shift = -44X

fz = S57.38Hz O+ = 0.331 Fa = 6.808fixed
Usgs = 1.81Ft~3 = S51.41litres Bl = 7.6271T-n
0= = 0.376 Om = 2.771
Cps = D.8625mn/N Mps = 2.9209g
ETEEEERERRRREE no = 2.482Y SPLyaf = 95.9dB -

10 20 i i P iileo 200 1 0 0 PP
23.22Hx ! £=12.344, 43.9° fO= 34.18 82.77Hz: Z=25.214, -51°
Z2:SIZE||3 :RATE|[4 :INPUT||S :MKR1||6 :MKRZ||7 :HINDOM|(8 : GAIN|(2 :DCHFP
16384 [|5.512k|| PROBE &9 2436 NONE 0.000

acauired: 16:34:02 1232009 [Ciberty Audiosuite |

Lowther PM&C ! T/E Parameters (Brand Hew) Driuver #z2

TEET resistor=10.1%t, effective dia. = 6.38inches = 16.Z2ch
fsimy = 32.38B, mass added = 20.0gramns = 0.70ounces
frequency shift = -43¥
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fs = 56.84Hz O+ = 0.330 Fe = 6.800fixed
Uss = 1.74Ft~3 = 49.2litres Bl = 7.BB38T-n
O= = 0.371 O = 3.015
Chs = D.B262nnM Mws = 9.4893g
T, ng = 2.343 SPLyef = 95.7dB -

23.22Hz;: £=12.590%, 45.1*° fO= 34.34 82.7¥7Hz : Z=25.074&,
2:53I7E|[3:RATE|4 :INPUT||S :MKR1||(6 :MKR2||7 :HINDOM|(8 : GAIN|/9 :DCHP
16384 |[5.512k|| PROBE &9 =246 NONE o.000

53¢



acquired 20:09:03 3/30/.20049
Lowther PM2C : T.% Parameters (Brand Hew) Driver #1

[Liberty Audiosuite |

fs = 64.69Hz O+ = 0.281 FBa = 6.906f ixed ChAud]-
Ugs = 1.31Ft~3 = 3I7.21litres Bl = 9.3738T n
Oe = 0.309 O = 3.040
Cns = 0.6245mnsN Mps = 9.692649
............... ng = 2.129 SPLyaf = 97.0dB e
TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsimy = 37.11, nmass added = 20.0g9ranms = 0.70ounces
frequency shift = -43¥

10 iz} P P i 0! i100 oo | P P bk
23.22H=z: Z=12.504, 47.3° fO= 31.01 82.77VHz:! Z=41.474%. —490c
2:5IZE|[3:RATE|[4:INPUT||S :MKR1||(6 :MKER2||7 :HINDOH|(8 :GAIN||9 :DCHP
16384 ||5.512k|| PROBE &9 296 HOME 0.000

acquired: 20:18:07 3302004

[Liberty Audiosuite |

Lowther PM2C : T.% Parameters (Brand Hew) Driver #2

fs = 66.15Hz O+ = 0.286 FBa = 6.806f ixed ChAud]-
Ugs = 1.38fFt~3 = 39.01itres Bl = 8.8B811T—n
Oa = 0.317 On = 2.881
Cns = 0.65342mnsN Mpws = 8.84884g9
............... ng = 2.4204 SPLyaf = 97.3dB e
TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsim) = 36.72, nmnass added = 20.0g9rams = 0.70ounces
frequency shift = -44X

60 da000a00 B8 ~a0d0aaaada0aaa 08600

10 ‘=0 =200

23.22Hz;: £=11.91%, 46.27" fO= 30.83 82.7¥7Hz : Z=42.094&, —45*
2:53I7E|[3:RATE|4 :INPUT||S :MKR1||(6 :MKR2||7 :HINDOM|(8 : GAIN|/9 :DCHP
16384 |[5.512k|| PROBE &9 =246 NONE o.000




acquired: 19:26:23

Lowther PMG6A

ors26/2009

T/% Parameters (Brand Hew) Driver #1

[Liberty Audiosuite |

fg = S50.95Hz Ot = 0.322 FBa = 7.106f ixed ChAud]-
Ugs = 2.13Ft~3 = 60.41itres Bl = 7.7521T—n

Oa = 0.364 O = 2.792

Chs = 1.0133mnsN Mps = 9.6297g9

............... ng = 2.107% SPLraf = 95.2dB e
TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsim) = 29.17, nmass added = 20.0g9ranms = 0.70ounces
frequency shift = -43¥
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10 H H 1100 H H H
23.22Hx ! £=14.704%, 47.6° fO= 38.10 82.77Hz : Z=21.324., -53°
Z2:SIZE||3 :RATE|[4 :INPUT||S :MKR1||6 :MKRZ||7 :HINDOM|(8 : GAIN|(2 :DCHFP

16384 [|5.512k|| PROBE &9 2436 NONE 0.000

acguired: 19:36:48 S/°26/.20049 [Ciberty Audiosuite |

Lowther PMG6A

T/% Parameters (Brand Hew) Driver #2

s = 93.69Hz O+ = 0.327 FBa = 7.206f ixed ChAud]-
Ugs = 1.965Ft~3 = 535.51itres Bl = 7.9320T n

Oa = 0.364 O = 3.228

Chs = 0.9314mnn'N Mps = 9.4350g9

............... Nng = 2.2664 SPLref = 95.6dB e
TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsimy = 30.52, nmass added = 20.0g9rams = 0.70ounces
frequency shift - 43 |
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27.86Hz: Z=17.28&%, S51.1*° fO= 51.90 99 .32Hz 1 Z=17.994%&, -93°
2:53I7E|[3:RATE|4 :INPUT||S :MKR1||(6 :MKR2||7 :HINDOM|(8 : GAIN|/9 :DCHP

16384 |[6.615k|| PROBE &9 =246 NONE o.000




acquired 11:25:40 3,27 /2009 [Liberty Audiosuite |
Lowther PM2A : T.% Parameters (Brand Hew) Driver #1

fg = 58.97Hz Ot = 0.216 FBa = 6.906f ixed ChAud]-
Ugs = 1L.46Ft~3 = 41.41litres BI = 10.667T-n
O = 0.236 Op = 2.568
Cps = 0.6947mnsN Mps = 10.485g
............... oS- ae3u SPLyof = 97 .4dB RV

TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsim) = 34.72, nmass added = 20.0g9ranms = 0.70ounces
frequency shift = -41¥

10 fzo ! T s fzoo0 | oo b g

23.22Hx ! f=16.484, 52.5° fO= 33.53 82.77THz: Z=40.414, -53°
Z2:SIZE||3 :RATE|[4 :INPUT||S :MKR1||6 :MKRZ||7 :HINDOM|(8 : GAIN|(2 :DCHFP

16384 [|5.512k|| PROBE &9 2436 NONE 0.000

acguired: 11:35:1=2 3727 /20049 [Ciberty Audiosuite |

Lowther PM2A : T.% Parameters (Brand Hew) Driver #2

fs = 53.62Hz Ot = 0.199 FBa = 6.906f ixed ChAud]-
Ugse = 2.10Ft~3 = 59.51itres BI = 9.56841T—n
Oc = 0.219 Op = 2.173
Cps = 0.9984nn/N Mps = 8.8243g
............... oS- 4. 029 SPLrof = 98.1dB RV

TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsim) = 29.80, nmnass added = 20.0g9ranms = 0.70ounces
frequency shift = -44X

b1

10 ‘=0 0 : P bbbk
23.22Hz: Z=19.73n, 592.9° fO= 36.959 82 .77Hz: Z-34.92%, -94°
Z:SIZE|[3 :RATE|[@: THPUT|[S (HKR1|[6 :HERZ|[7 : W1 NDOK|[S : GATH|[5 : DCHP
16284 ||5.512k|| PROBE &9 2as || MONE 0.000




acquired: 192:51:05

Lowther D2

10082002
T/% Paraneters (120 hr break-in Driver #1

[Liberty Audiosuite |

s = 596.02Hz Ot = 0.297 FBa = 7.106f ixed ChAud]-
Ugs = 1.95Ft~3 = 43.8litres Bl = 9.2428T n
O = 0.321 O = 3.866
Chs = 0.7352mnn'N Mps = 10.979g9
............... ng = 2.204% SPLraf = 95.6dB e
TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsim) = 33.48, nmass added = 20.0g9rams = 0.70ounces
frequency shift = -40¥
ey T one”
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10 P (i f {100 200 | i i i
23.22Hz;: Z=14.40%, 50.7" fO= 34.39 82.77Hz: Z=28.814&, —60*
Z:3IZE||3 :RATE|[4:INPUT||S :MKR1l||6 :MER2||7 i:HINDOM|(8 : GAIN|(2 :DCHF
16384 |[5.512k|| PROBE &9 =246 NONE o.000
acquired: 19:59:03 10082002 [Liberty Audiosuite |

Lowther D2

T/% Paramneters (120 hr break-in?

Driver #2

s = 55.16H=z O+ = 0.307 FBa = 7.106f ixed ChAud]-
Ugs = 1.63Ft~3 = 46.31litres Bl = 8.9163T—n
O = 0.332 O = 4.173
Chs = 0.7772mnn'N Mps = 10.7119
............... ng = 2.253 SPLyef = 95.5dB e
TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsimy = 32.71, nmass added = 20.0g9rams = 0.70ounces
frequency shift = -41¥
ey T one”
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10 ‘=0 i 100 :

23.22Hz: Z=14.10%, 50.8° fO= 34.70 8a.7vHz: Z=ar.11fk, -61°
Z:S1ZE|[3 :RATE|[@: TNPUT|[5 : MKR 1|6 :MKRZ|[7 : HINDOH|[S : GAI H|[9 : DCHP

16284 ||5.512k|| PROBE 69 246 || MOME 0.000




acguired: 20:07 :03 9/-.09/2002 [Ciberty Audiosuite |
Lowther DX3 : T/3 Paramneters (120 hr break-inl Driver #1

fs = 60.55Hz Ot = 0.295 FBa = 7.106f ixed ChAud]-
Ugs = 1.47Ft~3 = 41.8litres Bl = 10.132T—n

Oa = 0.259 O = 4.276

Chs = 0.7010mnsN Mps = 9.8560g9

............... ng = 2.4364 SPLyaf = 97.4dB e
TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsim) = 34.93, nmass added = 20.0g9rams = 0.70ounces
frequency shift = -42¥

10 fzo ! Pl b b oo fzoo0 | oo b bk

60.90Hz: Z=122.6%, O0.89° 958 .9Hz: Z=12.224, 5.21°
Z:3IZE||3 :RATE|[4:INPUT||S :MKR1l||6 :MER2||7 i:HINDOM|(8 : GAIN|(2 :DCHF

16384 ||5.512k|| PROBE 181 2850 NOME 0.000

acquired: 15:42:19 9/09/2002 [Liberty Audiosuite |

Lowther DX3 : T/3 Paramneters (120 hr break-inl Driver #2

fs = 60.46Hz Ot = 0.237 FBa = 7.106f ixed ChAud]-
Ugs = 1.43Ft~3 = 40.41itres Bl = 10.398T—n
Oa = 0.255 O = 3.377
Cnws = 0.6780mnsN Mps = 10.2229
............... ng = 2.2644 SPLyaf = 97.3dB e
TEET resistor=10.1%t, effective dia. = 6.38inches = 16.2ch
fsimy = 395.30, nmass added = 20.0g9rams = 0.70ounces
frequency shift = -42¥
TULS0RY T - - - - —_—— - - - —_— one”

10 H H H H Vo v 100 H H Voo :
60.96Hz: Z=97.94%4, =2.85" 962 .6Hz: £=11.70%&%, 1.84°

2:53I7E|[3:RATE|4 :INPUT||S :MKR1||(6 :MKR2||7 :HINDOM|(8 : GAIN|/9 :DCHP
16384 |[5.512k|| PROBE 180 =861 NONE o.000




[Liberty Audiosuite |

9092002

131:45

10
T8 Paraneters (120 hr break-in) Driuver #1

ol

Lowther DH4

SCOuU L e

7 .0084f ixed
10.538T—n

98 . 1dB

R =

Bl =
O = 4.036
Mps = 9.42B1g
EPLrer =

0.207

fg = OB .29Hz Oy =

= 1.66Ft~3 = 47 .1litres
O = 0.218

Cps = 0.7907mnsN

ng = 4.1204

UVas

= 16.2ch
0. 70ounces

&6 .38 inches

“

4

20 .0grans
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frequency shift

TEET resistor
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0.00°
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996 .9H=x :
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rHINDOH
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o
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0.000
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INPUT
ROBE

P

EIZE|(3:RATE|(4
16384 [|5.512k
acquire
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[Liberty Audiosuite |

139:41

10

ol

#2

TAE Paraneters (120 hr break-in) Driver

Lowther DH4

7. 104af ixed
10.331T-n
98 .4dB

Ra =

Bl =
O = 3.2492
Hps = 8.9240g
EPLyrer =

0o.213

Ot =
45 .21itres

61 .20Hz
~3 =
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= 0.7379nsN
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1.59ft
o
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L
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= 16.2ch
0. 70ounces

& .38 inches
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20.0arans
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TEET resistor
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108 .00,

=

61 .24H= :
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0.000

9
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S :MKRL1
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INPUT
ROBE

P

SIZE|[3:BATE|(4
16384 [|5.512k
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